K(III) - Sanskrit - H - 7 (Course 2)
2018
SANSKRIT - HONOURS
SEVENTH PAPER

Full Marks : 50

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Unit - 1
(Marks : 30)
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5. Answer any two of the following : 10x2=20

(a) Whatisthe full form of Ir ? Mention the branch of
Indo-European languages, to which the Vedic and
Classical Sanskrit languages belong ? Bring out the
main points of difference between these two
languages. 14148=10



(3)
' (b) Whatismeantbya ‘phonetic law’ ? Explain Collitz’s
law with examples. 2+8=10
(c) Write an informative note on the non-Aryan

influence on Sanskrit Language with suitable
illustrations. 10
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